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? TEST YOURSELF

A. Tick (v') the correct answer.

1. Computers use and store information using only

\)/O and 1. b. 2 and 3. c. 4 and 5.
2. 1 byte equals to
a. 9 bits. \b/.8 bits. c. 10 bits.

3. A half byte is a

a. KB. b. MB. \c/m'bble.

4. Which of the following is a secondary storage device?

\a/f’@n drive b. Monitor c. Keyboard
5. The storage capacity of a compact disc is
\VOO MB. b. 200 MB. c¢. 100 MB.

B. Write the full form of the following.
1. KB Kelo ba te . 3.GB %fﬂab‘d te
2. MB meao_btj te 4. T8 tvﬂ.bﬂtl

C. Fill in the blanks.

. 1ke= 1034 bytes 3. 1GB = 1024 MB
2. 1me= _10QY KB ~aa1m= |0y GB

D. Arrange these units in descending order of their magnitude.

it terabyte kilobyte ~megabyte byte gigabyte

b
Teyubdﬂta - Gigabyte —M abgfte——) Kelobyte — RByte —> bef

E. Ho any bytes dges it take to storé the following in the computer’s memory?

» This is my book. 11



CHECK YOUR PROGRESS

l

Tick (v') the correct statements and put a cross (X) against the wrong ones.

1. Computers process and store information using 1 and O only. v
2. A1orOis called a binary digit. v
3. A group of 6 bits is known as a nibble.

4. TB is the short form of terabyte.

Both RAM and hard disk capacities are measured in bytes.

X
v
v



